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=S Al 14,854,290 14,025,441 828,849
off 2 ==& 1k 14,854,290 14,025,441 828,849
500 Ex= 14,813,862 13,985,013 828,849
510 =12X=S 10,979,750 10,218,084 761,666
511 =1EX=SS 10,979,750 10,218,084 761,666
511-01 =18 x3 6,191,750 5,430,084 761,666
Osfimtel RH(=88d) 0 17,000 A17,000
OHEZ'R0II' & 'sS2' HelgAMd I (88d) 26,141 0 26,141
OEHZ'R01IH & 'S2" LMDl =AHMHA(LEH) 500,000 0 500,000
OEZ'S0lOt" Tloh AFAIE =4I 252,525 0 252,525
520 Al ,EHIEEXSS 3,834,112 3,766,929 67,183
521 Al - SHIEEXZS 3,834,112 3,766,929 67,183
521-01 Al - EHIEX=SS 3,834,112 3,766,929 67,183
OHE'R0II' & 'S2' OEAL Hoi=72(Lele, 48
o)
13,070 0 13,070
OEHE 'SOIT" Tl AFRAIE S3HI 54,113 0 54,113




